
Homework 3rd October 2025 

This week we have been using bar models and 

part whole models to help us with our addition 

and subtraction. When we are finding the ‘whole’ 

we add the two ‘parts’. When we are finding one 

of the ‘parts’ we subtract. Find the answers to the 

equations below.  

20 + 6 =  

 

 

30 + 8 =  

 

 

2 + 90 =  

 

 

5 + 50 =  

 

 

34 – 4 =  

 

 

  56 – 6 = 

 

 

 

 

 

 

   84 - 80 = 

 

 

 

 

 

 

   20 + 7 =  

 

 

 

 

 

  2 + 30 =  



 

Spelling 

Each week will list the spellings we have been working on in class. The children can choose 

5 words to practice from the list below. They can do across and down or pyramid writing:  

M a y 

a 

y 

 

M 

Ma 

May 

 


